#include<iostream>
using std;
main()

a=10, b =20, c = 30, d = 40;
cout << (a + b == ¢) << "\n";
cout << (a+ b +c > 2 *d) << "\n";
>
>

cout << ( 5 || d < 38) << "\n";

cout << ( 5 & d < 38) << "\n";

cout << (a <= b & b <= ¢) << "\n";

cout << (a >5 &8 d <30 || c - b ==108) << "\n";

—

cout << (a <=b & b <= c & c <= d) << "\n";

cout << (a>58& d<30 || c>d || d%2==208) < "\n";

cout << (a>588 d<30 || c>d& d% 2 =0) << "\n";

cout << (a==10 || bl=20 & c =30 || d 1= 48) << "\n";

cout << ((a==10 || b I=20) & c 1= 30 || d 1= 48) << "\n";
17 return 6;




#include<iostream>
using td;
main{)

nb, ng, nt;
cin >> nb >> ng >> nt;
cout << (nb > 25) << "\n";

cout << (ng <= 38) << "\n";

cout << (nb > 20 && nt > 2 || ng > 3@ && nt > 4) << "\n";

cout << (nb < 60 || ng < 70) << "\n";

cout << ( I(nb >= 68) && I(ng »= 70) ) << "\n";
cout << (nb == ng + 18) << "\n";

cout << (nb - ng > 1@ || nt > 5) << "\n";
cout << (nb == ng + 1@ || ng == nb + 15) <<
return 6,
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